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X =23 +6x—5 X+ 2%+ 6x+ 27
18x° — 141x° +212x — 84 8% + 47x% — 63x
X = 7 + 14x— 20 X — 14x° +31x+ 126
12x° — 25x% — 82x— 40 215 + 137x° + 172x + 60
6x° — 11x° — 46x— 24 X+ 2xF = 25x— 50
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X =27 +6x—5
(x— D —x+5)

18" — 141xF° + 212x— 84
(3x— 2)(x— 6)(6x— 7)

X =T + 14x— 20
(x— 5)(F —2x+ 4)

12x° — 25x% — 82x — 40
(3x + 2)(x — 4)(4x + 5)

6x° — 11x° — 46x — 24
Bx+2)(x—4)2x + 3)

f&iep:

X+ 27+ 6x+ 27
(x+3)2—x+9)

8x° + 47%° — 63x
x(x+ 7)(8x—9)

X — 142 +31x + 126
(x— 7)(x+2)(x - 9)

215 + 13752 + 172x + 60
Gx+ 2)(x + 5)(7x + 6)

X+ 2x> —25x— 50
x+35x—5(x+2)
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